LU HHE mAsRERANEE

AER: FH3F8A19H

BIEME (1 Sv/h)

55 BIESZPT
Tm 50cm Ocm

1 EERZERAIT YR 0.062 0.064 0.072
2 1E @M A 0.066 0.076 0.098
3 K< RD 0.072 0.074 0.078
4 KT RQ 0.074 0.072 0.074
5 KT RQ 0.064 0.076 0.076
6 ITRYBERATKTR 0.066 0.070 0.058
7 = EMEERT 0.076 0.064 0.074
8 ST IVT L~EE 0.076 0.080 0.086
9 ErEIGHhR 0.074 0.082 0.086
10 |4 B=E 0.058 0.062 0.066
11 M AR 0.066 0.070 0.070
12 |/ s 0.058 0.066 0.064
13 | GEFaH0 0.060 0.068 0.064
14 |4 EF0 0.070 0.070 0.064
maiE 0.076 0.082 0.098
=IEfE 0.058 0.062 0.058
FHiE 0.067 0.071 0.074




